Urban Economics
M. Finkler

Spring 2008

Midterm Exam

This closed book, closed notes exam has been designed to be completed within the 70 minute class period.  Students may use calculators if they wish.  They are expected to answer four of the six questions below with each question worth a maximum of 25 points.  The Honor Code is in effect.

“Cities are durable.  Most last longer than the countries that surround them, or indeed any other human institution. But some thrive, whereas others merely mark time (Cleveland, Minsk, Pyongyang), go into apparently long term decline (Detroit, New Orleans, Venice), or disappear (Tenochtitlan, Tikal, Troy). “  - The Economist survey, May 5, 2007.

1. Following the quotation above, The Economist asks the question: “What are the characteristics of a successful city?”  How would you respond?  (I prefer a few (three or four?) carefully explained factors rather than a long laundry list.)

2. This question relates to clustering.
a. Define an economic cluster and indicate what economic principles underpin the development of such a cluster.

b. Consider a firm that must choose between an isolated production site and a site in an industry cluster.  The following table shows the marginal product of labor for various numbers of workers. Assume that good times and bad times are equally likely but that the price of output is $5 in bad times and $10 in good times.  In the isolated site the supply of labor is fixed at five workers. In the cluster, the wage equals the expected wage at the isolated site. Which location should the firm choose? Defend your answer with a completely labeled graph. 

	# of Workers
	1
	2
	3
	4
	5
	6
	7
	8

	Marginal Product
	10
	9
	8
	7
	6
	5
	4
	3


3. City size
The literature on city size suggests that cities can be both too small and too large.  Use at least three of the five axioms of urban economics to explain why we find cities of different sizes and character.  Use appropriate graphics to illustrate why cities might reach different optimal sizes.
4.
Urban labor markets (Be sure to provide appropriate graphics.)
a. Consider a city that has decided to impose a pollution tax on its polluting firms. How would wages and employment be affected?  How does the result depend upon the elasticity of supply of labor with respect to environmental quality?  The wage elasticity of demand for labor by the city’s non-polluting firms?
b. How would wages and employment be affected by restrictions on when companies could close plants or offices?

Consider a region that produces lemons and ice and consumes lemonade (lemons and ice together). All resources are distributed uniformly throughout the region, and all people are equally productive in producing lemons and ice. There are scale economies in the production of ice, causing the development of an ice factory and a factory city. Suppose that a small refrigerator is introduced and imported into the region, providing an alternative to the ice purchased from ice factories. Explain and illustrate the effects of the refrigerator on (a) the market area of the ice factory and (b) the size of the city surrounding the ice factory.

6. Firm location
a. Why do breweries typically locate near their markets while wineries typically locate near their vineyards?  Has technology changed any of this?

b. The building of wooden ships, though a weight-losing activity, seems to take place in ports, far from their primary factor of production, trees.  Explain this decision.

